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[=fiva B EA [Sigc ouT IN GROSS| HDCP | NET
B B EY fi— 44 33 77 10.8] 66.2| A&
EEBH 8 F— 44 43 87| 19.2 67.8 AE
3 R HTF 41 41 82| 13.2 68.8 AE
M |7BK BE 37 38 75/ 6.0/ 69.0 AE
51 |RHE & 39 39 78 8.4] 69.6 AE
6h |ZEE—BR 51 43 94| 24.0/ 70.0 AE
L 5% BE 38 43 81| 10.8 70.2 AE
8fr | = 33 34 67 -3.6/ 70.6BG AE
o IO RERE 42 36 18 1.2| 70.8 AE
1062 |2H B2 41 43 84| 13.2 70.8 AE
1Mz | E@A BHiE 39 38 771 6.0/ 71.0
1261 |l fREE 37 40 771 6.0/ 71.0
13 |IUKX Ez 41 36 771 6.0/ 71.0
1446 |5 #Z 38 45 83 12.00 71.0
1561 WP AEF 44 51 95/ 24.0| 71.0/kE
166 |[BFH ==K 40 42 82 10.8| 71.2
1765 |80 % 42 46 88 16.8| 71.2
181 E# 40 41 81 9.6 71.4
19 Ef 36 32 68| -3.6/ 71.6
204 | KAl = 37 37 14 2.4) 71.6kE
2151 | AE HiA 38 36 741 2.4 71.6
20 B =& 39 40 791 71.2) 71.8
2364 B X 42 37 791 71.2) 71.8
2461 BEH B2 40 39 791 71.2) 71.8
256 WE EE 41 38 79 7.2 71.8/FRE
2601 |E4 38 41 791 71.2) 71.8
21 |ZH Ri& 42 43 85 13.2| 71.8
2841 Ly kK 40 38 78 6.0/ 72.0
20150 |[LEA RO 40 38 78/ 6.0/ 72.0
04z |IEEE —=F 45 39 84 12.0| 72.0|FkE
kL (2N # 43 41 84/ 12.0/ 72.0
201 B Mz 43 41 84/ 12.0/ 72.0
33 |IEE B 41 49 90| 18.0/ 72.0
46 B FI= 37 46 83 10.8| 72.2
35 HZE 41 42 83 10.8| 72.2|kE
bhL [T UVEH 40 43 83 10.8| 72.2
31s |R/HE  3EHA 39 44 83| 10.8| 72.2
38fr |ARER H# 44 39 83| 10.8| 72.2
3941 |22 &L 36 40 76| 3.6 72.4
401 A =IE 43 39 82| 9.6/ 72.4/kE
MG [hIl B8 45 43 88| 15.6| 72.4
261 | AH BB 36 39 75 2.4 72.6
L | FE RE 37 38 75 2.4 72.6
4461 B EF 38 43 81| 8.4| 72.6
4561 [ER @ 43 44 87| 14.4) 72.6 RE
466 MK = 41 46 87| 14.4| 72.6
AT |Wuds 3 41 39 80| 7.2| 72.8
4861 =B = 37 43 80| 7.2| 72.8
49461 Al =& 45 41 86| 13.2| 72.8
S0f |HEF =1 41 45 86| 13. 12. 8| /RE
P-1 IR —Y A KL 73—
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UTD@B®@®BEED®® INDWRB@BH®M® 4
w%E:

[[:%iva BRES g ouT | IN GROSS| HDCP | NET
i [BR = 39 40 79] 6.0] 73.0
52 |\EE KX 40 45 85| 12.0/ 73.0
h3fr [ XX 45 45 90| 16.8] 73.2
bAGL | =4 45 45 90| 16.8] 73.2
551 |AHE FE 40 43 83 9.6/ 73.4|RE
5601 |E4 2 A 83| 9.6| 73.4
576 R EH= 44 45 89| 15.6| 73.4
586 [E4 46] 43 89| 15.6| 73.4
596 [N % 49 46 95| 21.6| 73.4
6061 BRE ALEB 51 44 95| 21.6| 73.4/7RkE
6167 |FEEA A% i A 82| 8.4 713.6
626 |#AE S1T A4 44 88| 14.4) 713.6
6361 AR B=E 39 41 80| 6.0/ 74.0
641 |E4 20 44 86/ 12.0| 74.0
65 [fEH EH 45| 47 92| 18.0| 74.0/7kE
6661 |E4 47 51 98] 24.0| 74.0
6761 |ILE IE 35/ 38 73] 1.2 74.2
68431 = B M A 85 10.8] 74.2
IFETTE: 42 43 85 10.8] 74.2
71067 [E®%x BEAA M A 85| 10.8| 74.2|7kE
T [#E H=E 40 45 85 10.8] 74.2
1261 [ILG & 38| 46 84 9.6 74.4
131 ER E—EB 39 44 83| 8.4 714.6
TR |FM R 43 46 89 14.4) 74.6
56 AR @B= 53] 48 101] 26.4| 74.6/7E
7601 |RIF Al 53| 54 107 32.4] 74.6
7161 |#IE  FEsA 48] 46 94| 19.2| 74.8
1861 [EE A1 40 81 6.0/ 75.0
1961 | Fk F*X 45 42 87| 12.0| 75.0
806 |[HFAR WF A1) 46 87| 12.0| 75.0/7kE
816z /A B2 45 48 93] 18.0| 75.0
8261 | A% fE— 40 40 80/ 4.8/ 75.2
83fL |YEA IEHF 39 41 80/ 4.8/ 75.2
84 [BH B— 20 44 86/ 10.8/ 75.2
8561 |BAXR #TF 44 48 92| 16.8| 75.2|/kE
866 [ FOHE 45] 46 91| 15.6| 75.4
8761 |E% 41 50 91| 15.6| 75.4
886 |[FME EKER 52| 39 91| 15.6| 75.4
896 | FRE 9 M 90| 14.4| 75.6
906 [BEA IEX 431 47 90| 14.4] 75.6/RE
olfT [iBEK ¥t 431 40 83 7.2 75.8
9261 |d& FB—ER ) 42 83 7.2 75.8
086 A BR 44 45 89/ 13.2) 75.8
U [TH B 40 42 82| 6.0/ 76.0
9561 [FRJII & 44 44 88| 12.0/ 76.0|mE
966 [#MME IEX 51 54 105 28.8| 76.2
076 (B8 E 44 42 86| 9.6 76.4
986 [EL i 46| 46 92| 15.6| 76.4
96 [AFEA = 46 52 98| 21.6| 76.4
1006 | £E% fE— 42] 43 85| 8.4 76.6/7RE
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JIE 15z B E A g3 ouT IN GROSS| HDCP | NET
10162 |[FH &X 47 44 91| 14.4] 76.6
102z EH XHE 41 42 83| 6.0/ 77.0
1034z | &=HH #h 49 51 100, 22.8| 77.2
10441 BE)R Eth 40 47 87/ 9.6| 71.4
1054 R FIkE 46 53 99| 21.6| 77.4
10662 IS 7X#& 55 50 105 27.6| 77.4
10742 | &l BE 50 48 98| 20.4| 77.6
1084z !RE X 41 50 91| 13.2] 77.8
109 | FAX &XE 47 50 97| 19.2| 77.8
1106 == BE 51 56 107| 28.8| 78.2|&k=E
M4t =X 49 45 94| 15.6| 78.4
11261 BH BB 46 48 94| 15.6| 78.4
1134z LUl =F 48 46 94| 15.6| 78.4
11461 K#% F0 46 45 91| 12.0] 79.0
11561 =i B 54 51 105 25.2] 79.8
116 | KE F5B 54 62 116/ 36.0| 80.0/BB
11761 |E4 57 60 117 30.0] 87.0
Z ¥ 0] 99.9] 99.9
Z ¥ 0] 99.9]/ 99.9
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